

9

1.

S, $h = 2S$ (1).

$h = \frac{gt^2}{2}$ (2).

$S = \hat{t}_2 + \frac{gt_2^2}{2}$, $\hat{t} = g(t - t_2)$, $t_2 = 1$.

$S = g(t - t_2)t_2 + \frac{gt_2^2}{2}$, (1),

$h = 2gt_2(t - t_2) + gt_2^2$ (3).

(2) (3):

$\frac{gt^2}{2} = 2gt_2(t - t_2) + gt_2^2$

$t^2 = 4t_2t - 4t_2^2 + 2t_2^2$ (4)

, $t_2 = 1 : t^2 - 4t + 2 = 0$.

$t = 0.6$

, $t = 3.4$;

$h = 5 \cdot 3.4^2 = 57$.

:

2 -
2 -
4 -
2 -

(4)

2.

L -

, x -

, S -



$$: M = \dots S(L-x),$$

$$x_{\dots} = L - \frac{M}{\dots S}.$$

$$, \quad , \quad \dots \quad L-x=13 \quad ,$$

$$, \quad , \quad 2h > 13 \quad ,$$

$$, \quad , \quad h < 13 \quad ,$$

$$M = S(\dots h + \dots_B(L-h-x_1)) \quad (1),$$

$$x_1 = L - h \left(1 - \frac{\dots}{\dots_B} \right) - \frac{M}{\dots_B S}.$$

$$\dots_x, \quad x_1 = L - \frac{M}{\dots_x S}.$$

$$\dots_x = \dots_B \frac{M}{hS(\dots_B - \dots) + M} \quad (2).$$

$$, \quad \dots_x = 0.8 / \quad ^3.$$

:

$$2 \quad -$$

$$3 \quad -$$

$$2 \quad - \quad (1)$$

$$2 \quad - \quad (2)$$

$$1 \quad -$$

3.

$$\Delta m_B,$$

$$Q = c_B \Delta m_B (t_0 - t_B) + r \Delta m_B.$$

$$Q = c_P m_P (t_P - t_0).$$

$$Q = Q :$$

$$\Delta m_B = \frac{c_P m_P (t_P - t_0)}{c_B (t_0 - t_B) + r}$$

$$\Delta m_B \approx 0.027 .$$

:

$$2 - ,$$

$$5 - ,$$

$$\Delta m_B$$

$$2 - \Delta m_B$$

$$1 -$$

4.

:

$$U_0 = U_R + 3U_V .$$

$$R_1 = R + 3R_V .$$

$$I = \frac{U_0}{R + 3R_V} .$$

$$U_0 = \frac{U_0}{R + 3R_V} R + 3U_V .$$

$$U_0 R_V = U_V R + 3U_V R_V \quad (1).$$

$$: U_0 = U_R + U_V .$$

$$R_1 = R + \frac{1}{3} R_V .$$

$$I = \frac{U_0}{R + \frac{1}{3} R_V} .$$

$$U_0 = \frac{3U_0}{3R + R_V} R + U_V .$$

$$U_0 R_V = 3U_V R + U_V R_V \quad (2).$$

$$(1) \quad (2),$$

$$R/R_V = r.$$

$$\begin{cases} U_0 = rU_V + 3U_V \\ U_0 = 3rU_V + U_V \end{cases}.$$

$$, \quad U_V = \frac{1}{4}U_0 \quad U_V = 3 .$$

:

$$3 \quad - \quad (1)$$

$$3 \quad - \quad (2)$$

$$3 \quad - \quad (1) - (2)$$

$$1 \quad -$$

5.

$$\hat{c}_p = s/t.$$

$$s = s_1 + s_2 + s_3.$$

$$\hat{c}_p = \frac{\hat{t}_1 + s_2 + s_3}{t} = \frac{1}{5}\hat{c}_1 + \frac{s_2 + s_3}{t} \quad (1).$$

$$, \quad s_2 + s_3 = \frac{1}{3}s + \hat{c}_3 t_3 = \frac{1}{3}s + \hat{c}_3 (t - t_1 - t_2)$$

$$s_2 + s_3 = \frac{1}{3}s + \hat{c}_3 \left(\frac{4}{5}t - \frac{s_2}{\hat{c}_2} \right) = \frac{1}{3}s + \hat{c}_3 \left(\frac{4}{5}t - \frac{s}{3\hat{c}_2} \right).$$

$$s = \hat{c}_p t,$$

$$s_2 + s_3 = \frac{1}{3}\hat{c}_p t + \frac{4}{5}\hat{c}_3 t - \hat{c}_3 \frac{\hat{c}_p t}{3\hat{c}_2} \quad (2)$$

,

$$\hat{c}_p = \frac{1}{5}\hat{c}_1 + \frac{1}{3}\hat{c}_p + \frac{4}{5}\hat{c}_3 - \frac{\hat{c}_3}{3\hat{c}_2}\hat{c}_p.$$

,

$$\hat{c}_p = \frac{3\hat{c}_2(\hat{c}_1 + 4\hat{c}_3)}{5(2\hat{c}_2 + \hat{c}_3)} = 24 / .$$

:

2 - (1)

3 - (2)

3 -

2 -